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Efiﬁ=6x2—(y+7)x—2y2 +7y-3
=6x" —(y+ 7~ 2y -1)y-3)

=8x -2y - 1)lex+(y-3)}
=(Bx-2y+1)2x+y-3)

e
A= {— a+ (b + c)}{a + (b + c)}{a - (b - c)}{a + (b - c)}

=%a2 +(b+c)2}{a2 —(b—c)z}
=—a* +az(b—c)2 +(b+c)2a2 —(b+c)2(b—c)2
——at va?b-cf + (b4 ) - {b+ )b -c)f
=—a* +az(2b2 +202)— (b2 —02)2
=—a* +2a’bh* +2a°c? —(b4 —-2b%c* + ¢t
=—a*—b* —c* +2a°b* +2b°c* +2c%a’
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)
’ﬁ-iﬁ:{xz +y2)+ xy}{(x2 +y2)—xy xt—x?y? +y4)
_{,2 +y2)2 () {x* = x2p? +y4)
(et 42207 4t et - x2p? 4y
={(x4+y4)+x2y2}{<x4+y4)—x2y2}

@

5iﬁ={(a+b+c)2 —(b+c—a)2}+{(c+a—b)2 —(a+b—c)2}
={(a+b+c)+(b+c—a)}{(a+b+c)—(b+c—a)}
+{(c+a—b)+(a+b—c)}{(c+a—b)—(a+b—c)}
=(2b +2¢)- 2a + 2a(~ 2b + 2¢)

=8ac
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R ={(x+1)x + 4)H{(x + 2)x + 3)] — 24
=( +5x+4Xx +5x+6)
={(x +5x)+4}{(x +5x)+6}
=(x2+5x) +10(x +5x)
=(x2+5xXx +5x+10)
= x(x+5)x? +5x+10)

)
53 = (4x* +16)+ 702
2ﬁ+4-4m*+h2
~ (222 +4) —ox?
a2 +4)+3xff2r? 44— 3x))
—(2x? +3x+4)2x? — 31+ 4)
3)

5K =(ab—c)d +a*bc — ac® —ab* + be
(ab—c)d + ac(ab—c)—b(ab - c)

(ab—c)d +ac—b)
(

ab— c)(ac b+d)

e
alZOWNWTDO 2, bIZHONTD 2RI, ciZONTD 2K, dIiZHONTD 1 KA
THHINE, WEDOEH/NSWIIZHOWTET S L3,

(0]

Bk 5-1 1+31+9+51'3—1
1-3i 14+3i 3+i 3-i
C(5-a)1+3i)  (9+5i)(3-4)

+

(=30 1+3) (3+i)3-1i)
5+15i—i—3i% 27-9i+15i —5i?
= 2 ) + )

17 —9i 9—i
_5+14i+3+27+6i+5

1+9 9+1
_8+14i 32+6i

10 10
_ 40+ 20i
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=4+2i
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5.2 {(x + 1)(y + 1)}(xy + 1)+ xy
=(xy+x+y+1)(xy+l)+xy
{(xy+1)+x+y}(xy+ 1)+ xy
(xy + 1)2 + (x + y)(xy + 1)+ Xy
{r + 1)+ 2Hlw +1)+ 2}
(xy+x+1)(xy+y+1)

@

53 = {(2x)3 +(3y)° }+ 18xy -1
={(2x+3y)3 —3-2x-3y(2x+3y)}+18xy—1
:(2x+3y)3 -1 —18xy(2x+3y)+18xy

(
(

2+ 3y + 1dx® — 6y + 9y + 2x+3y +1)

e
(a+b)3 =a’ +b> +3a’b +3ab*
=a® +b* +3ab(a +b)
£0,
a+b’ =(a+b)3 —3ab(a +b)
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{2x+ 3y)—1}{(2x+3y)2 + (2x+3y)~1+12}—18xy{(2x+3y)—1}
2x+3y—1){(2x+3y)2 +2x+3y+1—18xy}
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(©))
5 =4 —Z(b2 +c2)-a2 +b* —2b%c* + ¢*
- 2)2 —2(b2 +c2)-a2 +(b2 +c2)2 —4b*c?
i(az)z —Z(b2 +c2)-a2 +(b2 +c2)2 }— (2bc)2
—la? = (b + ) — (2be)
(az -b* —02)2 —(2bc)2
= {(a2 -b* —c2)+ 2bc}{(a2 -b’ —cz)—Zbc}
=1{4° —(b2 —2bc+c2)}{a2 —(b2 +2bc+c2)}

z
%z_(b_c)z}{az_(my}

+
(a+b—c)(a—b+c)(a+b+c)(a—b—c)

6
(0]
P ‘(1+x/5)—«/§+ 2 (-v2)-43
(1+\/5)+\/§ (1+\/§)—«/§ (1—\/5)+\/§ (1—\/5)—\/5
. 3 (1+J5)+J§+ 3 _(1—«/5)+\/§
1++2)-3 [1+42)+43  (1-42)-43 (1-+2)+43
21++2-43) N 2A1-v2-43) N i+42+43) N 31-v2+43)
hev2f -W5F -v2f -5 V2 -WBF G- V2f -]
_2(1+ﬁ—ﬁ)+2(1—ﬁ—ﬁ)+3(1+J§+J§)+3(1—J5+ﬁ)
22 ~2y2 22 -2\2
:(1+J5—J§)—(1—ﬁ— 3)+3{(1+J5+J§)—(1—J5+J§)}
V2 242
=243
=5
()

536 =o(x? + 4x + 4) - J4lx> - 2x+1)
=3(x+2) —2(x - 1)

=3x+2|- 2x -1
22T, Jx+2P 20, Jx-1P 207200,
wl(x+2)2 =|x+2|, \I(x—l)z =|x—1|

£oT, HR=3x+2-2x-1
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kv,
x <=2 DIFHE
Ix+2| -2 —1| =3{(x+2)}-2{- (x—1)}
=-3(x+2)+2(x-1)
=-x-38
2<x<1DGE
Ax+2— 2P —1|=3(x+2) - 2{- (x—1)}
=3(x+2)+2(x~1)
=5x+4
1<x DFE
A +2|- 2 —1|=3(x+2)-2(x-1)
=3(x+2)-2(x-1)
=x+8



